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Case Study 1 (The Lumberjacks of Canada)

Lumbering refers to the cutting of trees and using the raw material to make many products.
(a) True (b) False

Canada has been blessed with forests full of
(a) Coniferous (b) deciduous
Lumbering is done during

trees.
(c) none of these

(a) winter (b) summer (c) rainy season
The slippery snow makes it easy to slide the logs.

(a) True (b) False

Lumberjacks fall into groups.

(@3 (b) 4 ()5

The first group of Lumberjacks consists of the high- riggers

(a) True (b) False

What are the men who carry out the task of cutting of trees known as?
(a) woodcutters (b) carpenters (c) lumberjacks
The second group of men are called

(a) buckers (b) woodcutters (c) none of them

It is the responsibility of the buckers to drag the logs out of the forests and take to the landing sites.

(a) True
The
either saw mills or pulp mills.

(a) buckers (b) lumberjacks
The form the third group.
(a) skidders (b) sawyers (c) lumberjacks
Whose task is to cut the trees using electric and mechanical saws?
(a) buckers (b) high- riggers (c) skidders

The frozen sap of the trees makes it easy to cut them.

(a) True (b) False

The
frozen river, a railway truck or a road.
(a) high riggers (b) sawyers
The final group is made up of the

(a) transporters (b) skidders (c) none of them

The difficult task of carrying or dragging the logs is done with the help of which vehicle?
(a) tractors (b) boats (c) jeeps

If logs get jammed the lumberjacks jump from log to log using the poles to free the logs.

(b) False

(c) none of them

(c) skidders

(a) True (b) False
Lumberjack requires physical strength and good skills.
(a) True (b) False

Chapter — 7 (South America)

Based on its physical features, South America has divisions.

(@3 (b) 4 ()5

The western coastal strip lies between the Andes Mountains and the Pacific Ocean.
(a) True (b) False

The Mountains are known as Andes.

(a) Western (b) Southern
The highest peak is Mt. Aconcagua in Chile
(a) True (b) False

is the highest active volcano in the world.
(a) Chimborazo (b) Cotopaxi (c) none of them
Altiplano is a
(a) plateau

(c) none of these

(b) mountain (c) river

The Basin in the north is drained by the Orinoco River.
(&) Amazon Basin (b) Orinoco Basin (c) none of them
Orinoco is a navigable river

(a) True (b) False
Leanos grasslands are found in
(a) South America (b) Africa
The Amazon originates from

(c) Denmark

(a) Peru (b) Denmark (c) none of them
The Patagonian Desert is a part of the plateau.

(a) True (b) False

The Eastern Highlands can be divided into areas.

(@) 2 (b) 3 (c) 4

The highest waterfall in the world is, Angel falls.

(a) True (b) False

cut the branches and tree trunks into appropriate sizes before the wood is sent to

drag the logs out of the forests and take them to the landing sites, which could be
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The Guiana Highlands are to the north of the

(a) Amazon (b) orinocco (c) none of them
Equatorial forests are known as
(a) Seluas (b) priaries (c) none of these
Temperate grasslands are called the
(a) Pampas (b) Selvas (c) none of these
The Atacama Desert is located to the west of the continent.
(a) True (b) False
Peruvian current is a current
(a) hot (b) cool (c) none of them
Temperate desert lies below the Pampas.
(a) True (b) False
The northern part of the region is than the southern
(a) drier (b) humid (c) cold
The vegetation of British Marine region is a combination of deciduous and evergreen trees.
(a) True (b) False
Temperature rise and fall depending on the above sea level.
(a) altitude (b) latitude (c) none of them
South America has abundant natural resources.
(a) True (b) False
Which tree is used for making chewing gum?
(a) chickle (b) Rubber (c) Mango

is the world leader in tin production.
(a) Bolivia (b) Brazil (c) none of them

Case Study 2 (Lifein the Amazon Basin)

Amazon rainforest covers the area of million square miles.

(@ 2.3 (b) 2.4 (c) 2.5
contains the largest part of Amazon basin.
(a) Brazil (b) Bolivia (c) Columbia
The Amazon basin is the largest reservoir of fresh water on the planet.
(a) True (b) False
The Amazon is the largest river.
(a) ond (b) 3rd (C) 15t
The Amazon is also home to 57 endangered species.
(a) True (b) False
The Amazon River contains over rare aquatic species.
(a) 3000 (b) 2500 (c) 4000
The Amazon is the biggest flower in the world.
(a) water lily (b) Lotus (c) sunflower
The caranguejeira spider is bigger than a baseball.
(a) True (b) False
About one of all running water on the planet flower through the Amazon.
(a) fourth (b) fifth (c) sixth
There are nearly three million indigenous people in the Amazon rainforest.
(a) True (b) False
There are 30 times more fish species in the Amazon than in all European rivers combined
(a) True (b) False
The Amazon rainforest stretches over countries
@7 (b) 8 (©)9
One tree has been known to have 72 different species of ants living in it.
(a) True (b) False

Over 250 different
(a) indigenous

languages are spoken by the tribes of the Amazon.
(b) foreign (c) none of them

About percent of the Amazon’s population is made up of indigenous people.
(@7 (b) 8 (©)9

Some still live in voluntary isolation from the outside world.

(a) True (b) False

What is the length of river Amazon?

(a) 6452km (b) 6868km (c) 6214km

The bulk of the human population in the Amazon Basin is found in cities

(a) True (b) False

Outside the cities and towers, the Amazon is sparsely populated.

(a) True (b) False

One species of monkey coughing 130 grams is about the size of a toothbrush.
(a) True (b) False
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